

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

September 17, 2024

AWARD NOTICE BL077-24 Purchase and Installation of Office Cubicles

Pursuant to the bids received on July 25, 2024 for BL077-24, Purchase and Installation of Office Cubicles the bid has been awarded to Hyer Office Furniture, Inc. in the amount of \$533,543.94. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Brittany Bryant, CPPB Purchasing Associate III

BB/km

Enclosure

BL077-24 Purchase and Installation of Office Cubicles

Department of Water Resources Hyer Office Furniture, Inc. (L) APPROX. TOTAL UNIT ITEM# **DESCRIPTION** QTY **PRICE PRICE** SECTION A - CUSTOMER CARE: CALL CENTER Electric Adj. Height Mech. for 48" top 40 EA \$570.00 \$22,800.00 P55 36x28 Fabric Panel 41 EA \$150.10 \$6.154.10 P55 36x36 Fabric Panel 4 EA \$199.12 \$796.48 3 \$228.76 \$19,215.84 4 84 EA P55 36x48 Fabric Panel \$196.84 5 P55 54x24 Fabric Panel 1 EA \$196.84 6 P55 54x28 Fabric Panel 1 EA \$201.78 \$201.78 7 P55 54x36 Fabric Panel 20 EA \$272.08 \$5,441.60 8 P55 54x48 Fabric Panel \$5,088.96 16 EA \$318.06 9 8-TRAC Ceiling In-Feed 6 EA \$119.70 \$718.20 10 8-TRAC-Duplex Circuit 1 80 EA \$16.72 \$1,337.60 11 8-TRAC-Duplex Circuit 2 80 EA \$16.72 \$1,337.60 8-TRAC-Duplex Circuit 3 \$16.72 \$518.32 12 31 EA 13 Power Dist. Harness 36 24 EA \$151.24 \$3,629.76 14 Power Distribution Harness 48 59 EA \$164.16 \$9,685.44 15 Pass-thru Harness 28 40 EA \$74.86 \$2,994.40 12 EA \$3,319.68 16 Power Pole \$276.64 Fabric Tile 18" x 28" \$91.96 \$91.96 17 1 EA 18 Fabric Tile 18" x 36" 20 EA \$104.50 \$2,090.00 19 Fabric Tile 18" x 48' 16 EA \$112.48 \$1,799.68 20 Glass Tile 18" x 28' \$101.08 \$4,144.28 41 EA \$492.48 21 Glass Tile 18" x 36" 4 EA \$123.12 Glass Tile 18" x 48" \$159.98 \$13,438.32 22 84 EA 23 Binder Bin 48 28 EA \$361.76 \$10,129,28 24 Open Shelf 36 36 EA \$100.32 \$3,611.52 25 Full Height Pedestal B/B/F 32 EA \$465.50 \$14,896.00 Full Height Pedestal F/F 32 EA \$449.16 26 \$14,373.12 27 Perno "L" LED Task light w/OS 28 EA \$180.50 \$5,054.00 2mm 28x24 Worksurface DS \$98.80 \$98.80 28 1 EA 29 2mm 36x24 Worksurface DS \$115.90 40 EA \$4,636.00 30 2mm 48x24 Worksurface DS 72 EA \$146.30 \$10,533.60 **SECTION A TOTAL** \$168,825.64

BL077-24 **Purchase and Installation of Office Cubicles**

υe	partii	ient oi	water	Resources	

		Hyer Office Furniture, Inc. (L)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE
SECTIO	N B - CUSTOMER CARE: CASH MANAGEMENT			
	Acrylic Modesty mount kit	2 EA	\$17.86	\$35.72
	Electric Adj. Height Mech. for 48" top	9 EA	\$570.00	\$5,130.00
	Electric Adj. Height Mech. for 60" top	2 EA	\$570.00	\$1,140.00
4	Box Leg 14" deep	7 EA	\$85.50	\$598.50
	Box Leg 71 deep	3 EA	\$99.56	\$298.68
6	Box Leg Support Bracket - Left	2 EA	\$26.22	\$52.44
7	Box Leg Support Bracket - Right	1 EA	\$26.22	\$26.22
8	Modesty Panel 120	2 EA	\$76.76	\$153.52
	Modesty Panel 180	2 EA	\$123.88	\$247.76
	P55 36x28 Fabric Panel	10 EA	\$150.10	\$1,501.00
	P55 36x36 Fabric Panel	22 EA	\$199.12	\$4,380.64
	P55 36x48 Fabric Panel	18 EA	\$228.76	\$4,117.68
	Wall Mount Kit - 53"	1 EA	\$76.00	\$76.00
	8-TRAC-Duplex Circuit 1	18 EA	\$16.72	\$300.96
15	8-TRAC-Duplex Circuit 2	18 EA	\$16.72	\$300.96
	Power Dist. Harness 36	5 EA	\$151.24	\$756.20
17	Power Distribution Harness 48	9 EA	\$164.16	\$1,477.44
18	Pass-thru Harness 28	9 EA	\$74.86	\$673.74
19	8-TRAC Side Power Entry 72	2 EA	\$147.44	\$294.88
20	Acrylic Screen 12x48 Frosted White	1 EA	\$175.56	\$175.56
21	Glass Tile 18" x 28"	1 EA	\$101.08	\$101.08
22	Glass Tile 18" x 36"	22 EA	\$123.12	\$2,708.64
23	Glass Tile 18" x 48"	9 EA	\$159.98	\$1,439.82
	Full Height Pedestal B/B/F	11 EA	\$465.50	\$5,120.50
	Full Height Pedestal F/F	9 EA	\$449.16	\$4,042.44
	2mm 36x24 Worksurface DS	9 EA	\$115.90	\$1,043.10
27	2mm 24x40 Worksurface DS	1 EA	\$138.32	\$138.32
28	2mm 48x24 Worksurface DS	19 EA	\$146.30	\$2,779.70
29	2mm 36x28 Worksurface DS	1 EA	\$161.88	\$161.88
	2mm 48x28 Worksurface DS	1 EA	\$180.12	\$180.12
31	2mm 71x28 Worksurface - DS	2 EA	\$325.66	\$651.32
32	2mm 63x28 D-Top DS	2 EA	\$297.92	\$595.84
SECTION B TOTAL			\$40,700.66	

BL077-24 Purchase and Installation of Office Cubicles

		Hyer Office Furniture, Inc. (L)			
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	
SECTIO	N C - CUSTOMER CARE: TRAINING ROOM				
1	Box Leg 24" Deep	28 EA	\$87.40	\$2,447.20	
2	Modesty Panel 120	14 EA	\$76.76	\$1,074.64	
	8-TRAC-Duplex Circuit 1	14 EA	\$16.72	\$234.08	
	End Power Feed w/20a Plug - 4'	4 EA	\$58.90	\$235.60	
5	Power Distribution Harness 24	14 EA	\$112.48	\$1,574.72	
6	Pass-thru Harness 24	10 EA	\$71.06	\$710.60	
	Acrylic Screen 12x24 Frosted White	14 EA	\$95.00	\$1,330.00	
8	Privacy Screen Mount-on surface	28 EA	\$17.10	\$478.80	
9	2mm 48x24 worksurface DS	14 EA	\$146.30	\$2,048.20	
	SEC	SECTION C TOTAL		\$10,133.84	
OUTREA	N D - FIELD OPERATIONS: COMMUNICATIONS, ACH, CONTRACTS				
	Electric Adj. Height Mech. for 48" top	35 EA	\$570.00	\$19,950.00	
	P55 54x24 Fabric Panel	3 EA	\$196.84	\$590.52	
	P55 54x28 Fabric Panel	44 EA	\$201.78	\$8,878.32	
	P55 54x36 Fabric Panel	23 EA	\$272.08	\$6,257.84	
	P55 54x48 Fabric Panel	97 EA	\$318.06	\$30,851.82	
	8-TRAC Ceiling In-Feed	4 EA	\$119.70	\$478.80	
	8-TRAC-Duplex Circuit 1	39 EA	\$16.72	\$652.08	
	8-TRAC-Duplex Circuit 2	35 EA	\$16.72	\$585.20	
	8-TRAC-Duplex Circuit 3	69 EA	\$16.72	\$1,153.68	
	8-TRAC-Duplex Circuit 4	34 EA	\$16.72	\$568.48	
	End Power Feed w/20a Plug - 4'	1 EA	\$58.90	\$58.90	
	Power Dist. Harness 36	20 EA	\$151.24	\$3,024.80	
	Power Distribution Harness 48	55 EA	\$164.16	\$9,028.80	
	Pass-thru Harness 28	33 EA	\$74.86	\$2,470.38	
	Power Pole	8 EA	\$276.64	\$2,213.12	
16	Etched Glass Tile 18" x 24"	2 EA	\$101.08	\$202.16	
17	Etched Glass Tile 18" x 28"	2 EA	\$112.10	\$224.20	
18	Etched Glass Tile 18" x 36"	2 EA	\$138.32	\$276.64	
19	Etched Glass Tile 18" x 48"	75 EA	\$178.22	\$13,366.50	
20	Fabric Tile 18" x 28"	42 EA	\$91.96	\$3,862.32	
21	Fabric Tile 18" x 36"	20 EA	\$104.50	\$2,090.00	
22	Fabric Tile 18" x 48"	22 EA	\$112.48	\$2,474.56	
23	Binder Bin 48	35 EA	\$361.76	\$12,661.60	
24	Open Shelf 36	34 EA	\$99.94	\$3,397.96	
	Full Height Pedestal B/B/F	35 EA	\$465.50	\$16,292.50	
26	Full Height Pedestal F/F	35 EA	\$449.16	\$15,720.60	
27	Perno "L" LED Task light w/OS	34 EA	\$180.50	\$6,137.00	
	<u> </u>	35 EA	\$115.90	\$4,056.50	
28	IZHIHI 30XZ4 WORKSUHACE DS				
28 29	2mm 36x24 Worksurface DS 2mm 48x24 Worksurface DS	70 EA	\$146.30	\$10,241.00	

BL077-24 Purchase and Installation of Office Cubicles

Departn	epartment of Water Resources			Hyer Office Furniture, Inc. (L)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE		
SECTIO	N E - FIELD OPERATIONS: FIELD CREWS					
1	Electric Adj. Height Mech. for 48" top	14 EA	\$570.00	\$7,980.00		
2	P55 36x28 Fabric Panel	7 EA	\$150.10	\$1,050.70		
3	P55 36x48 Fabric Panel	7 EA	\$228.76	\$1,601.32		
4	P55 54x24 Fabric Panel	18 EA	\$196.84	\$3,543.12		
5	P55 54x28 Fabric Panel	9 EA	\$201.78	\$1,816.02		
6	P55 54x36 Fabric Panel	85 EA	\$272.08	\$23,126.80		
7	P55 54x48 Fabric Panel	32 EA	\$318.06	\$10,177.92		
8	8-TRAC Ceiling In-Feed	8 EA	\$119.70	\$957.60		
9	8-TRAC-Duplex Circuit 1	50 EA	\$16.72	\$836.00		
10	8-TRAC-Duplex Circuit 2	50 EA	\$16.72	\$836.00		
11	8-TRAC-Duplex Circuit 3	28 EA	\$16.72	\$468.16		
12	8-TRAC-Duplex Circuit 4	14 EA	\$16.72	\$234.08		
13	Power Dist. Harness 36	32 EA	\$151.24	\$4,839.68		
14	Power Distribution Harness 48	28 EA	\$164.16	\$4,596.48		
15	Pass-thru Harness 24	18 EA	\$71.06	\$1,279.08		
16	Pass-thru Harness 28	14 EA	\$74.86	\$1,048.04		
17	Power Pole	16 EA	\$276.64	\$4,426.24		
18	Etched Glass Tile 18" x 28"	8 EA	\$112.10	\$896.80		
19	Etched Glass Tile 18" x 48"	23 EA	\$178.22	\$4,099.06		
20	Fabric Tile 18" x 28"	8 EA	\$91.96	\$735.68		
21	Fabric Tile 18" x 36"	23 EA	\$104.50	\$2,403.50		
22	Fabric Tile 18" x 48"	16 EA	\$112.48	\$1,799.68		
23	Binder Bin 48	14 EA	\$361.76	\$5,064.64		
24	Open Shelf 24	34 EA	\$90.06	\$3,062.04		
25	Open Shelf 36	48 EA	\$100.32	\$4,815.36		
26	Full Height Pedestal B/B/F	48 EA	\$465.50	\$22,344.00		
27	Full Height Pedestal F/F	14 EA	\$449.16	\$6,288.24		
28	Perno "L" LED Task Light w/OS	14 EA	\$180.50	\$2,527.00		
29	2mm 36x24 Worksurface DS	14 EA	\$115.90	\$1,622.60		
30	2mm 48x24 Worksurface DS	28 EA	\$146.30	\$4,096.40		
31	2mm 59x28 Worksurface DS	34 EA	\$221.92	\$7,545.28		
		SECTION E TOTAL	\$136,	117.52		
	OVERALL TOTAL (SECTIONS A + B + C + D + E)			\$533,543.94		

Recommended Vendor:

Hyer Office Furniture, Inc. Attn: Robert Pugh 4103 Tench Road, Ste 400 Suwanee, GA 30024 Phone: 678-361-0576

bpugh@mintonjones.com